(1) hyperbola

$$
\frac{(x-3)^{2}}{16}-\frac{(y+2)^{2}}{9}=1
$$

asymptotes

$$
y+2= \pm \frac{3}{4}(x-3)
$$

Parabola

$$
(y+4)^{2}=8(x+3)
$$


(3) ellipse

(4) hyperbola


$$
\frac{(y+3)^{2}}{\left(\frac{9}{25}\right)}-\frac{(x-4)^{2}}{\left(\frac{16}{25}\right)}=1
$$

asymptotes

$$
y+3= \pm \frac{3}{4}(x-4)
$$

$$
\begin{aligned}
& \sqrt{2}^{(4,-3.6)} \\
& F_{2}(4,-4)
\end{aligned}
$$

(5)

$$
\frac{(x-2)^{2}}{25}-\frac{(y-3)^{2}}{11}=1
$$

(6)

$$
(x+2)^{2}=-12(y-6)
$$

work
(1)

$$
\begin{aligned}
& 9 x^{2}-16 y^{2}-54 x-64 y-127=0 \\
& \left(9 x^{2}-54 x\right)+\left(-16 y^{2}-64 y\right)=127 \\
& 9\left(x^{2}-6 x+9\right)-16\left(y^{2}+4 y+4\right)=127+81-64 \\
& (-3)^{2}=9 \\
& (-2)^{2}=4 \\
& 9(x-3)^{2}-16(y+2)^{2}=144 \\
& 01 \ldots 2
\end{aligned}
$$

$$
\begin{aligned}
& 4(x-3)-16(y+2)^{2}=144 \\
& \frac{9(x-3)^{2}}{144}-\frac{16(y+2)^{2}}{144}=\frac{144}{144} \\
& \frac{(x-3)^{2}}{16}-\frac{(y+2)^{2}}{9}=1
\end{aligned}
$$

(2)

$$
\begin{aligned}
& 3 y^{2}-24 x+24 y-24=0 \\
& y^{2}-8 x+8 y-8=0 \\
&\left(y^{2}+8 y+16\right. \\
&(4) \\
&(4)^{2}=8 x+8+16 \\
&(y+4)^{2}=8 x+24 \\
&(y+4)^{2}=8(x+3)
\end{aligned}
$$

(3)

$$
\begin{aligned}
& 11 x^{2}+36 y^{2}-88 x-72 y-184=0 \\
& \begin{array}{l}
\left.11 x^{2}-88 x\right)+\left(36 y^{2}-72 y\right)=184 \\
11\left(x^{2}-8 x+16\right)+36\left(y^{2}-2 y+1\right)= \\
4(-4)^{2}
\end{array} \begin{array}{l}
184 \\
+176 \\
+36
\end{array} \\
& \begin{array}{l}
11(x-4)^{2}+36(y-1)^{2}=396
\end{array} \\
& \begin{array}{l}
\frac{11(x-4)^{2}}{396}+\frac{36(y-1)^{2}}{396}=1 \\
\frac{(x-4)^{2}}{36}+\frac{(y-1)^{2}}{11}=1
\end{array}
\end{aligned}
$$

(4)

$$
\begin{aligned}
& -225 x^{2}+400 y^{2}+1800 x+2400 y-144=0 \\
& \left(-225 x^{2}+1800 x\right)+\left(400 y^{2}+2400 y\right)=144 \\
& -225\left(x^{2}-8 x+16\right)+400\left(y^{2}+6 y+9\right)=144 \\
& -225(-4)^{2}-3600 \\
& -2(x-4)^{2}+400(y+3)^{2}=144 \quad+3600 \\
& \frac{400(y+3)^{2}-\frac{225}{144}(x-4)^{2}=1}{144}=1 \\
& \frac{(y+3)^{2}}{\left(\frac{144}{400}\right)}-\frac{(x-4)^{2}}{\left(\frac{1045}{25}\right)}=1 \\
& \frac{(y+3)^{2}}{\left(\frac{9}{25}\right)}-\frac{(x-4)^{2}}{\left(\frac{16}{25}\right)}=1
\end{aligned}
$$

(5) Foci: $(8,3),(-4,3) \rightarrow$ horczontal/center Semitransverse $a x i s$ length 5

$$
\frac{(x-2)^{2}}{25}-\frac{(y-3)^{2}}{11}=1
$$

$$
c=6
$$

$$
c^{2}=36 .
$$

$$
B^{2}=36-25=11
$$

(6) directrix $y=9$ focus $(-2,3)$


$$
(x+2)^{2}=-12(y-6)
$$

